[> NOTES

A. ANGLE—IN (TYP STEEL JAMBS) STYLE TRACK——
WELD SLOT ON ANGLE, OR WELD HEEL OF THE ANGLE,

1. DESIGNED AND TESTED IN ACCORDANCE WITH WIND LOAD
PROVISIONS OF THE FLORIDA BUILDING CODE AND

INTERNATIONAL BUILDING CODE PER ANSI/DASMA 108 AND

ANSI/DASMA 115. PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY
FOR VERIFICATION OF WIND LOAD CONSTRUCTION DETAILS.

N

3. SECTION HEIGHTS MAY VARY TO CREATE VARIOUS
DOOR HEIGHTS, 30—1/2" MAXIMUM SECTION HEIGHT.
4. LIFT CLEARANCE OR FULL VERTICAL TRACK MAY ALSO BE USED.

LOW HEADROOOM TRACK MAY BE USED WITH EITHER
DRAWBAR OPERATOR OR LOCK.

LOW HEAD ROOM USES A 7/16" DIAMETER ROLLER SHAFT.
5. FASTENING METHODS (TRACK TO WALL),

. PRESSURES LISTED AS POSITIVE/NEGATIVE (DESIGN).

5/16"

SPACING BASED ON BRACKET SPACING (SEE CHART BELOW):

» SECTION A—A

ANGLE—IN MOUNT

(TYP. STEEL JAMBS)

g

SECTION A—A
ANGLE—IN AND BRACKET MOUNT
(TYP. MASONRY JAMBS)

STOP
MOLDING

SECTION A-—A

ANGLE—OUT MOUNT

(TYP. WOOD JAMBS)

2>

(TYP.

SIDE ELEVATION OF WALL ANGLE TRACK OPTION

END STILE—\

STOP
MOLDING

SECTION A—A
JAMB BRACKET MOUNT
WOOD JAMBS)

SCREW

s

OR BOLT THRU WITH 5/16" BOLT, OR EQUIVALENT.

. ANGLE—IN AND JAMB BRACKETS (TYP MASONRY JAMBS)

STYLE TRACK —— 3/8" SIMPSON TITEN HD WITH MAX 24"

SPACING.

MINIMUM EMBEDMENT DEPTH OF 2-3/4" AND

A MINIMUM EDGE DISTANCE OF 2-3/4".

. ANGLE—OUT (TYP WOOD JAMBS) STYLE TRACK——

5/16” x 1 3/4" LAG BOLT, OR EQUIVALENT.
IF ANGLE IN ON MASONRY JAMBS SEE NOTE 5B.
D. JAMB BRACKETS (TYP WOOD JAMBS) STYLE TRACK——

HEADROOM
12"R OR 15'R
12.00
N
\—\JOINT BRACKET
i
VERTICAL
/ TRACK
- -4 '777
Tg =] %
A A
OPENING
HEIGHT
(REF) /SCAB BRACKET
J::u'
= ;
SEE CHART FOR
g BRACKET SPACING
=
i SEE CHART FOR
BRACKET SPACING
{ =

/

' j R
STEEL HS—-3 STRUT

SECTION C=C

3" MAX—?

CENTER STILE

x 1 3/4” LAG BOLT, OR EQUIVALENT.
6. FOR COMMERCIAL HARDWARE DETAILS SEE DRAWING 408717.

HORIZONTAL

ANGLE

TRACK

SECTION B—B

HORIZONTAL TRACK

)

r—A—1

DETAIL F

STEEL ANGLE

THRU BOLT 5/16™ X 1"
WITH NUT AND LOCK WASHER—\

STEEL ANGLE ATTACHED 1\
WITH 2 SCREWS AT
13.5" MAX SPACING

WEATHERSEAL

SECTION D-D

STRUT

THCK

HEIGHT

HS-—-3

0.055

3.50

OF 23" HEIGHT BY 50" WIDTH.
GLAZING RETAINER TO BE ATTACHED TO SECTION WITH

#8 X 1"

A.

\

\

2-1/4" (T) ~
4 \

? ANGLE—" \

"

SECTION G-G

SCREWS WITH A MAX SPACING OF 6"
. STRUT OR ANGLE INSTALLATION:
FOR STRUTS ONLY— USE 2 SCREWS AT BOTH END OF
STRUT, 2 ON EACH CENTER HINGE LOCATION,
AND 2 BETWEEN EACH HINGE.
. FOR ANGLES ATTACHED TO FIN ONLY—-—
1 — 5/16" BOLT EACH END AND WITH A MAX
SPACING OF 13.5"

. GLAZING IS 1/4" POLYCARBONATE WITH A MAX GLAZING SIZE

9. ANGLE LEG IS TURNED DOWN.

10. 22 GAUGE X 16" LONG REINFORCING C—RAIL INSERTED
IN THE ALUMINUM EXTRUSION AT THE BOTTOM OF EACH

SECTION EXCEPT BOTTOM SECTION.

REVISIONS

DESCRFTION

CABLE DRUM TORSION SPRING I> GLAZE
COUNTERBALANCE _\
= , /—TOP FIXTURE CENTER HINGE—\ \ l"
?t / jA / / / \
- ____l ___________ AN ’ / / /
:' hiid et i ™
% / / / / /
pusn ot i / , / /
LOCATION. 1/4"
BETWEEN PUSH | L
NUT AND HINGE. % e ==y = - = L
/ / /
30'—E1 "HT / / / / / F
MAX HEIG
! WHLL i ______________ i —=E /
A alal
e = = i |
i / v i—BE, ,’ / / ninil
G G BOX CENTER HINGE
/ / / /
) \
END HINGE— / / / / /
__
END STILE / / / / =D /
V H H M 2 2 H H H rlt; H H H H H H H H H 2 H H g i
/ \ CENTER STlLE—/ =D
2X ROLLER HOLDER REQUIRED
BOTTOM FIXTURE 16'2" MAX DOOR WIDTH LT =
INTERIOR DOOR ELEVATION \\“\ /

POLYCARBONATE
DOUBLE SIDED VHB TAPE
DOOR | JAMB LOAD
ALUMINUM RETAINER WIOTH | LB/FT (HEIGHT)
SCREW 162" | +388/—437
142" | +340/—-329
122" | +292/-329
102" | +244/—275 N DWAYNE KORNISH
/
82" | +196/-221 ‘ 6‘SIONA\. e \\\ e JooR BRI
i 5 T
11
E&%&g& ATE REENNER DOOR END ANGLE/SECT ROLLER TRACK
WIDTH | IMPACT | STILE STRUT AT TRE STEM | BRACKETIVERTICAL
uP To |REsiSTaNT| ary | ary TYPE Top | TYPE |pia| o, |seiffeg | GAGE | HARDWARE
162" | YES |DOUBLE| 1 |3 X 2 X 3/16| Hs—3 | TR—5 | 27| 5/8" " 10.000"| HEAVY

THE DRAWINGS AND ALL OTHER INFORMATION CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PROPERTY OF OVERHEAD DOOR CORPORATION AND TS AFFILIATED COMPANIES. THIS DRAWING
ﬁ{e &F%ﬁ%ﬁgcﬁmgﬂy PART, MAY NOT BE COPIED IN ANY MANNER OR DISCLOSED TO ANYONE WITHOUT THE PRIOR WRITTEN CONSENT OF ORPQQA'I'EOH.
JANY OF THIS DRAWING OR INFORMAT

OVERHEAD DOOR

NO DISCLOSURE OF

REF DWG

USED ON

'ION 5 INTENDED TO OPERATE AS A LICENSE OR AUTHORIZATION TO USE IT_FOR ANY PURPOSE WITHOUT THE SPECIFIC WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION.
FOE FROECRN | 1o rrances UNLESS OTHERWSE SPEGIRED FINISH m DATE DRANING TIME:
BERS: pars WINDLOAD, 521,
@ g WO NONBERS: £ 25 | N/A cntuogicli e (8 "6 Taror [ 10/20/14 | 4T bl oo wax
XX ko .03 UNIT OF CHECKED BY:
ASUE V14100 A0 Y145
IPRLY, UNLESS XXX + .010 | MEASURE v
mmc_mmsmw ANGLES: + 5 N/A ey e D—411368
HOLES: & EA scue N/A | s 1or




